
Kit Item List
QuantitySub Item DescriptionSub Item #

16 SPACE LARGE METAL DRAWER GRAY40846 1

#8 X 1/2" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63311-DG 100

#8X 3/4" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63313-DG 100

#8 X 1" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63314-DG 100

#10 X 5/8" HEX WASHER HEAD SELF-DRILLING SCREW ZINC PLATED63322 100

#10 X 3/4"  HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER-RESISTANT COATING63323Q-DG 100

#10 X 1" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63324-DG 100

#10 X 1-1/2" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63326-DG 50

#12 X 3/4" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63331-DG 100

#12 X 1" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63332-DG 50

#12 X 1-1/4" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63333-DG 50

#12 X 1-1/2" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63334-DG 50

1/4"(#14) X 3/4" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63341-DG 50

1/4"(#14) X 1" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63342-DG 50

1/4"(#14) X 1-1/4" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63343-DG 50

1/4"(#14) X 1-1/2" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63344-DG 40

1/4"(#14) X 2" HEX WASHER HEAD SELF-DRILLING SCREW WITH WEATHER RESISTANT COATING63346-DG 30


